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Run 6102 quartetwise, posHQ: Beam DH

Laser ON Entries: 46654 Entries: 40133 aam1_1ach._pocHo
B Mean: 16.9209 +- 0.0035 Mean: 3.8606 +- 0.0016 40133
B Laser OFF Std Dev: 0.7475 +- 0.0024 | Std Dev: 0.3171 +/- 0.0011 3.861
B S0 DBV 0.3171
B Al | | L 1 | | | [ T | | | | I 1 | | | | | | |
5 10 15 20 25

Run 6102 quartetwise, asym0Osub: Beam ON

Run 6102 quartetwise, negHO: Beam DIN
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-------- Histogram Vars

Positive Hel (ON): 16.920897 +/- 0.003461
Negative Hel (ON): 16.124051 +/- 0.003290
Positive Hel (OFF): 3.860598 +/- 0.001583
Negative Hel (OFF): 3.866366 +/- 0.001581
-------- Sums and Diffs

On Diff: 0.796846 +/- 0.002566

Off Diff: -0.005768 +/- 0.002049
On Sum: 33.044947 +/- 0.006247

Off Sum: 7.726965 +/- 0.002410
-------- Asymmetries
On Asym: 31.473519 +/- 0.101692 (ppt)
Off Asym: -0.227836 +/- -0.080929 (ppt)
-------- Bkgd Subtraction

BkSub Sum: 25.317982 +/- 0.006695
BkSub Asym: 31.701355 +/- 0.129964 (ppt)




Run 6102 quartetwise, posHO vs time
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Run 6102 quartetwise, asym0Osub vs time
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Run 6102 quartetwise, negHO vs time
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Run 6102 quartetwise, bcm vs time
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